The result
of the

test

Bayes Theorm

Has the disease Dose not have the disease | Total
(D) (D)
Positive (T ) Correct decision False decision
n(T)
Sensitivity false positive
_ n(TnD) —._ n(TnD)
P(T/ D)= (D) P(T/D)= nD)
Negative (T ) False decision Correct decision
n(T)
false negative Specificity
— . n(TnD) S — n(T ND)
P((T/D)= =
(TID=5py | PUTID)= =S
Total n( D) n(D) n(Q)




Predictive value Positive :

P(T/D )*P(D)
Ll péi sl 83 (Jaisi D-D)

P(D/T) =

_ P(T/D )*P(D) _ Sensitivity*P(D)
" P(T/D )*P(D) +P(T/D )*P(D)  Sensitivity=P(D)+(1-Specificity)=P(D)

Predictive value Negative :

P(T/D )xP(D)
bl s lasll (i ( JaiwsD - D)

P(D/T) =

_ P(T/D )*P(D) _ SpecificityS+P(D)
" P(T/D )*P(D) +P(T/D )*P(D)  Specificity*P(D)+(1-Sensitivity)*P(D)




